Asset: 10137314 2001 FORD TAURUS Car, Intermediate, 4 Door

Workorder: 146303 Problem: 001 WASH TICKET ISSUED OUT 08/31/01

Meter Reading: 0 Labor Parts

In Date: 08/31/2001 Close Date: 09/05/2001 Hours Description Quantity

- 001 Wash Ticket Issued Out 08/31/01

Parts Charge: 0.00 Labor Charge: 0.00 Commercial Charge: 5.94

Workorder: 149050 Problem: 001 WASH TICKET ISSUED OUT 10/22/01

Meter Reading: 0 Labor Parts

In Date: 10/22/2001 Close Date: 10/25/2001 Hours Description Quantity

- 001 Wash Ticket Issued Out 10/22/01

Parts Charge: 0.00 Labor Charge: 0.00 Commercial Charge: 7.14

Workorder: 151565 Problem: 001 WASH TICKET ISSUED OUT 11/29/01

Meter Reading: 0 Labor Parts

In Date: 11/29/2001 Close Date: 12/11/2001 Hours Description Quantity

- 001 Wash Ticket Issued Out 11/29/01

Parts Charge: 0.00 Labor Charge: 0.00 Commercial Charge: 5.94

Workorder: 234560 Problem: P.M.SERVICE

Meter Reading: 8880 Labor Parts

In Date: 02/08/2002 Close Date: 02/12/2002 Description Quantity Hours Pm Service 2.50 L/F PH400 FRM PH3600 WIX 51516 OIL FILTER 1.00 Service Rear Brakes. SHOP SUPPLIES 1.00 Shop Supplies **5W20 ENGINE OIL** 5.00 L/F AF7854 FRM CA7365 WIX 46051 AIR FILTER 1.00

Parts Charge: 17.96 Labor Charge: 125.00

Workorder: 245668 Problem: 001 WASH TICKET ISSUED OUT 07/26/02

Meter Reading: 0 Labor Parts

In Date: 07/26/2002 Close Date: 08/08/2002 Hours Description Quantity

- 001 Wash Ticket Issued Out 07/26/02

Parts Charge: 0.00 Labor Charge: 0.00 Commercial Charge: 5.94

#### Asset: 10137314 2001 FORD TAURUS Car, Intermediate, 4 Door

Workorder: 249167 Problem: P.M. SERVICE.

Meter Reading: 16447		Labor	Parts		
In Date: 10/03/2002	Close Date: 1	0/07/2002	Hours	Description	Quantity
Pm Service			5.50	31-24 WIPER BLADES 24" BLADE	1.00
Resurface Front Rotors. R&R Front Pads. Service Rear				5W20 ENGINE OIL	5.00
Brakes.Test Drive.				SHOP SUPPLIES	1.00
Shop Supplies				CA8997 AIR FILTER LBF AF1683 WIX 52385	1.00
				31-20 WIPER BLADES 20" BLADE	1.00
				G8861A FUEL FILTER LBF G6626 WIX 33957	1.00
				BRK/PADS YU2Z2V001AA	1.00
				L/F PH400 FRM PH3600 WIX 51516 OIL FILTER	1.00
	Parts Charge:	119.23	Labor Char	ge: 275.00	

Workorder: 249234 Problem: BALANCE ALL TIRES

 Meter Reading: 16447
 Labor
 Parts

 In Date: 10/04/2002
 Close Date: 10/08/2002
 Hours
 Description
 Quantity

 - Balance Tire
 2.00
 SHOP SUPPLIES
 1.00

- R/R Special Center Cap

Test DriveShop Supplies

Parts Charge: 2.00 Labor Charge: 100.00

Workorder: 332295 Problem: 001 WASH TICKET ISSUED OUT 12/27/02

Meter Reading: 0 Labor Parts

In Date: 12/27/2002 Close Date: 01/03/2003 Hours Description Quantity

- 001 Wash Ticket Issued Out 12/27/02

Parts Charge: 0.00 Labor Charge: 0.00 Commercial Charge: 5.94

#### Asset: 10137314 2001 FORD TAURUS Car, Intermediate, 4 Door

Workorder: 336585	Problem: P.M.SERVICE,SEE NOTE	
Motor Pooding: 20701	Lahor	

Meter Reading: 20701		Labor	Parts		
In Date: 03/17/2003	Close Date: 03/21/20	03 Hours	Description	Quantity	
- Pm Service		3.50	10W30 MOTOR OIL	5.00	
<ul> <li>Transport &amp; Pickup Vehicle</li> </ul>	e At Dealer.(Defective		CA8997 AIR FILTER LBF AF1683 WIX 5	2385 1.00	
Ign.Switch)			31-24 WIPER BLADES 24" BLADE	1.00	
- Service Rear Brakes.			L/F PH400 FRM PH3600 WIX 51516 OII	_ FILTER 1.00	
- Shop Supplies			31-20 WIPER BLADES 20" BLADE	1.00	
			SHOP SUPPLIES	1.00	
	Parts Charge: 2	9.32 Labor C	harge: 175.00		

Parts Charge: Labor Charge: 175.00

Workorder: 336640 001 WASH TICKET ISSUED OUT 03/10/03

Meter Reading: 0 Labor **Parts** 

In Date: 03/10/2003 Close Date: 03/18/2003 Hours Description Quantity

001 Wash Ticket Issued Out 03/10/03

5.94 0.00 0.00 **Commercial Charge:** Parts Charge: Labor Charge:

**NEEDS ALL TIRES** Workorder: 336935 Problem:

Meter Reading: 20701 Labor **Parts** In Date: 03/20/2003 Close Date: 03/24/2003 Hours Description Quantity Replace 4 Tires And Balance 2.50 **SHOP SUPPLIES** 1.00 Rr/R 4 Custom Hubcaps 4.00 116061599 215/60R16 215/60R16 EAGLE GT+2

**Shop Supplies** 

Parts Charge: 265.57 125.00 Labor Charge:

Workorder: 337366 Problem: SHIMMYS/PULLS RIGHT

Meter Reading: 20817 Labor **Parts** 

In Date: 03/27/2003 Close Date: 03/31/2003 Quantity Hours Description **Balance All Tires** 4.00 SHOP SUPPLIES 1.00

Alignment

Road Test

**Shop Supplies** 

2.00 200.00 Parts Charge: Labor Charge:

Asset: 10137314 2001 FORD TAURUS Car, Intermediate, 4 Door

Workorder: 342514 Problem: 001 WASH TICKET ISSUED OUT 06/10/03

Meter Reading: 0 Labor Parts

In Date: 06/10/2003 Close Date: 06/16/2003 Hours Description Quantity

- 001 Wash Ticket Issued Out 06/10/03

Parts Charge: 0.00 Labor Charge: 0.00 Commercial Charge: 5.94

Workorder: 348864 Problem: P.M.SERVICE,SEE NOTE

Meter Reading: 22715 Labor Parts

In Date: 09/29/2003 Close Date: 09/30/2003 Hours Description Quantity Pm Service 4.75 **5W20 ENGINE OIL** 5.00 Ck Brks & Test Dr To Verify Customer Concern.Resurface G8861A FUEL FILTER LBF G6626 WIX 33957 1.00 SHOP SUPPLIES Frt Rotors, Service Frt & Rear Brakes. Test Drive. 1.00 **Shop Supplies** L/F PH400 FRM PH3600 WIX 51516 OIL FILTER 1.00

Parts Charge: 27.95 Labor Charge: 237.50

Workorder: 348907 Problem: ALIGNMENT/VIBRATION PROBLEM

Meter Reading: 22715 Labor Parts

 In Date: 09/30/2003
 Close Date: 10/03/2003
 Hours
 Description
 Quantity

 - Balance 4 Tires
 4.00
 SHOP SUPPLIES
 1.00

- Align

- Road Test

- Shop Supplies

Parts Charge: 2.00 Labor Charge: 200.00

Workorder: 349108 Problem: 001 WASH TICKET ISSUED OUT 09/29/03

Meter Reading: 0 Labor Parts

In Date: 09/29/2003 Close Date: 10/02/2003 Hours Description Quantity

- 001 Wash Ticket Issued Out 09/29/03

Parts Charge: 0.00 Labor Charge: 0.00 Commercial Charge: 5.94

#### Asset: 10137314 2001 FORD TAURUS Car, Intermediate, 4 Door

Problem: A/C NOT COLD. Workorder: 350092

Meter Reading: 22868 Labor **Parts** 

In Date: 10/17/2003 Close Date: 10/21/2003 Hours Description Quantity Transport & Pickup Vehicle At Dealer. 1.00 SHOP SUPPLIES 1.00

Shop Supplies

Parts Charge: 2.00 50.00 Labor Charge:

Workorder: 432372 001 WASH TICKET ISSUED OUT 01/05/04 Problem:

Meter Reading: 0 Labor **Parts** 

In Date: 01/05/2004 Close Date: 01/06/2004 **Hours** Description Quantity

001 Wash Ticket Issued Out 01/05/04

5.94 Parts Charge: 0.00 Labor Charge: 0.00 **Commercial Charge:** 

**NEEDS W/BLADES** Workorder: 439556 Problem:

Meter Reading: 24737 **Parts** Labor

Hours

In Date: 03/29/2004 Close Date: 03/30/2004 Quantity R&R W/Blades. 0.25 31-20 WIPER BLADES 20" BLADE 1.00

31-24 WIPER BLADES 24" BLADE 1.00

Description

11.84 12.50 Parts Charge: Labor Charge:

Workorder: 446816 P.M.SERVICE,A/C. Problem:

Meter Reading: 26079 Labor **Parts** 

Quantity In Date: 06/04/2004 Close Date: 06/09/2004 **Hours** Description Pm Service 3.50 **CA8997 AIR FILTER LBF AF1683 WIX 52385** 1.00 Ac Tuneup L/F PH400 FRM PH3600 WIX 51516 OIL FILTER 1.00 Service Rear Brakes. SHOP SUPPLIES 1.00 F75Z6730BA DRAIN PLUG 1.00 Shop Supplies **5W20 ENGINE OIL** 5.00 R134A REFRIGERANT 1.00

> 175.00 34.31 Parts Charge: Labor Charge:

Asset: 10137314 2001 FORD TAURUS Car, Intermediate, 4 Door

Workorder: 452916 Problem: 001 WASH TICKET ISSUED OUT 07/22/04

Meter Reading: 0 Labor Parts

In Date: 07/22/2004 Close Date: 08/04/2004 Hours Description Quantity

- 001 Wash Ticket Issued Out 07/22/04

Parts Charge: 0.00 Labor Charge: 0.00 Commercial Charge: 5.94

Workorder: 462048 Problem: 001 WASH TICKET ISSUED OUT 11/12/04

Meter Reading: 0 Labor Parts

In Date: 11/12/2004 Close Date: 11/17/2004 Hours Description Quantity

- 001 Wash Ticket Issued Out 11/12/04

Parts Charge: 0.00 Labor Charge: 0.00 Commercial Charge: 7.14

Workorder: 538300 Problem: P.M.SERVICE/CHECK TIRES

Meter Reading: 29803 Labor Parts

In Date: 03/07/2005	Close Date: 03/09/2005	Hours	Description	Quantity
- Pm Service		2.50	G8861A FUEL FILTER LBF G6626 WIX 33957	1.00
- Service Rear Brakes.Test Drive.			SHOP SUPPLIES	1.00
<ul> <li>Shop Supplies</li> </ul>			CA8997 AIR FILTER LBF AF1683 WIX 52385	1.00
			1516 OIL FILTERFRM PH3600 WIX 51516	1.00
			31-24 WIPER BLADES 24" BLADE	1.00
			31-20 WIPER BLADES 20" BLADE	1.00
			09997 BRAKE CLEAN	1.00
			5W20 ENGINE OIL	5.00

Parts Charge: 45.63 Labor Charge: 125.00

Workorder: 545383 Problem: HECK BRAKES

Meter Reading: 30577 Labor Parts

In Date: 05/20/2005 Close Date: 05/24/2005 Hours Description Quantity

- C/S Check Brkaes. Verified Concern. Resurface Front 2.50 SHOP SUPPLIES 1.00

Rotors. Service Frt And Rear Brakes. Test Drive.

- Shop Supplies

Parts Charge: 2.00 Labor Charge: 125.00

#### Asset: 10137314 2001 FORD TAURUS Car, Intermediate, 4 Door

Workorder: 550379 Problem: P.M.SERVICE/SEE NOTE

	Meter Reading: 31726		Labor	Parts	
	In Date: 07/15/2005	Close Date: 07/19/2005	Hours	Description	Quantity
_	Pm Service		8.50	CA8997 AIR FILTER LBF AF1683 WIX 52385	1.00
-	- Resurface Rear Drums.R&R Rear Shoes.Test Drive.			1516 OIL FILTERFRM PH3600 WIX 51516	1.00
-	Check Fuel Gauge & Send	ding Unit.R&R Fuel Pump Assy		1401 BRAKE FLUID BRAKE FLUID	1.00
	And Fuel Module.Test Driv	/e.		YF1Z14A069AA FLEX FUEL MODULE	1.00
_	Shop Supplies			PAB599AR BRAKE SHOES TAURUS 8-55/64"	1.00
				1F1Z9H307EC FUEL PUMP	1.00
				5W20 ENGINE OIL	5.00
				31-24 WIPER BLADES 24" BLADE	1.00
				SHOP SUPPLIES	1.00
				31-20 WIPER BLADES 20" BLADE	1.00

Parts Charge: 409.46 Labor Charge: 425.00

Workorder: 552485 Problem: 001 WASH TICKET ISSUED OUT 08/04/05

Meter Reading: 0 Labor Parts

In Date: 08/04/2005 Close Date: 08/08/2005 Hours Description Quantity

- 001 Wash Ticket Issued Out 08/04/05

Parts Charge: 0.00 Labor Charge: 0.00 Commercial Charge: 5.94

Workorder: 559859 Problem: P.M.SERVICE

Meter Reading: 34445 Labor Parts

	In Date: 12/20/2005	Close Date: 12/22/2005	Hours	Description	Quantity
-	Pm Service		4.00	SHOP SUPPLIES	1.00
-	Flush Trans Sys.			SYN/ATF TRANS FLUID SYNTHETIC	14.00
-	Service Rear Brakes.Test	Drive.		10W30 MOTOR OIL	5.00
_	Shop Supplies			1516 OIL FILTERFRM PH3600 WIX 51516	1.00
				31-20 WIPER BLADES 20" BLADE	1.00
				31-24 WIPER BLADES 24" BLADE	1.00

Parts Charge: 83.26 Labor Charge: 200.00

#### Asset: 10137314 2001 FORD TAURUS Car, Intermediate, 4 Door

Workorder: 632252 Problem: 001 WASH TICKET ISSUED OUT 12/30/05

Meter Reading: 0 Labor Parts

In Date: 12/30/2005 Close Date: 01/03/2006 Hours Description Quantity

- 001 Wash Ticket Issued Out 12/30/05

Parts Charge: 0.00 Labor Charge: 0.00 Commercial Charge: 5.94

Workorder: 640391 Problem: P.M.SERVICE, CHECK A/C

Meter Reading: 36153 Labor Parts

	In Date: 06/05/2006	Close Date: 06/14/2006	Hours	Description	Quantity
-	Pm Service		18.25	G8861A FUEL FILTER LBF G6626 WIX 33957	1.00
-	R&R Fan Belt.			31-20 WIPER BLADES 20" BLADE	1.00
-	Check Window Mirrors.R&	R Control Switch.		31-24 WIPER BLADES 24" BLADE	1.00
_	R&R L/Outer Trans Seal.			CA8997 AIR FILTER LBF AF1683 WIX 52385	1.00
_	Resurface Frt Rotors & Rear Drums.R&R Rear Wheel			D6TZ6730A DRAIN PLUG	1.00
	Cylinders, Test Drive.			09997 BRAKE CLEAN	1.00
_		ower Ball Joint And Sway Bar		5W20 ENGINE OIL	5.00
_	Links.	ower ball sollit And Sway bal		2F1Z1177AB L/OUTER TRANSAXLE SEAL	1.00
		Drivo		YL1Z17B676AAA POWER MIRROR SWITCH	1.00
-		Drive.		WC128289 W/CYLINDERS TAURUS	2.00
-	Ac Tuneup Shop Supplies		1516 OIL FILTERFRM PH3600 WIX 51516	1.00	
			902944 STRUT MOUNT	2.00	
				K8687 DRIVER SIDE LOWER BALL JOINT	1.00
				1F1Z8620AB FAN BELT	1.00
				71615 FRONT STRUT	2.00
				K8734 SWAY BAR LINK	1.00
				SHOP SUPPLIES	1.00
				K8735 SWAY BAR LINK	1.00

Parts Charge: 609.47 Labor Charge: 50.00

Workorder: 644562 Problem: SISTERS TOWING & TRANSPORTATION TOW FROM 50 MILATAR

Meter Reading: 0 Labor Parts

In Date: 08/23/2006 Close Date: 08/23/2006 Hours Description Quantity

Sisters Towing & Transportaton Tow From 50 Milatary

4-Points - Tow To Lv Shop

Parts Charge: 0.00 Labor Charge: 0.00 Commercial Charge: 78.00

Asset: 10137314 2001 FORD TAURUS Car, Intermediate, 4 Door

Workorder: 644564 Problem: TOW IN/NO START

Meter Reading: 36342 Labor Parts

 In Date: 08/23/2006
 Close Date: 08/24/2006
 Hours
 Description
 Quantity

 - Check Charging Sys. R&R Battery.
 0.75
 GROUP 58R BATTERY (MTC BXT-58R)
 1.00

 - Shop Supplies
 SHOP SUPPLIES
 1.00

Parts Charge: 95.39 Labor Charge: 37.50

Workorder: 647674 Problem: 003 WASH TICKETS ISSUED OUT 10/18/06

Meter Reading: 0 Labor Parts

In Date: 10/18/2006 Close Date: 10/24/2006 Hours Description Quantity

- 003 Wash Tickets Issued Out 10/18/06

Parts Charge: 0.00 Labor Charge: 0.00 Commercial Charge: 17.82

Total Parts Charges: 1,759.39 Total Labor Charges: 2,637.50 Total Comm. Charges: 175.44